Bihar Board Class 7 Maths Solutions Chapter 8 YTdI®h

Bihar Board Class 7 Maths 9Tdi® Ex 8.1
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U 3.

ATdih 1 bd (¥0) H ad BHIfoTe-
(1) 343

(i) 512

(iii) 729

(iv) 3125

Bd:

(1) 343

=7%x7x7=343 =73
(i) 512

=2X2X2X2X2X2X2X2x2=512=29

(iii) 729

=3%x3x3x3x3x3=729=3°
(iv) 3125

=5X5X5X5X5=23125=5°
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Bd:
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(iv) 1002 9T 2100

B :
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U4 5. |

YIS UMAUS] B! Tl & OB & =0 H ad BHIToTe-
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(ii) 720

(iii) 1080

(iv) 2280

(v) 3600

Bd:

(1) 1200

=24 x3 x5 2 | 1200

(ii) 720 Z [ 600
2300

=24x32x5 2] 150

(iii) 1080 31 75

5 2

=23x33x5 3 f

(iv) 2280 =

=2x3° x5 2 | 720

(v) 3600 =1 360
21180

=2%x3%x5° 21 90
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UH 6. 3 15

A BRI s s

(1) 3 x 102 I

(i) 7% x 3?

(iii) (-1)° x (7)3

(iv) 0 x 102

(v) 32 x 104

(vi) 34 x 23

Bd:

(i) 3 x 102 = 3 x 100 = 300
(i) 7% x 3% =49 x 9 = 441
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(iii) (-1)° x 73 = -1 x 343 = -343
(iv)ox102=0x100=0
(v) 32 x 104 = 9 x 10000 = 90000

2

5
(vi) 34 x 23 = 81 x 8 = 648 -2.].275

3] 138
UH 7. 31 45
(i) (-3)3 _3__ 15
(i) (-1) x (-2)3 5
(iii) (-4)* x (-3)?
(iv) (-2)3 x (-10)*
(V) (-5)2 x 2% 2 [20250
ENE 3[u3s
() (-3)3=-3x-3 x-3=-27 3 335
() (D x(-2)3=-1x-8=8 _;_, lr-é
(i) (-4)* x (-3)* =16 x 9 = 144 .
(iv) (-2)3 x (-10)* = -8 x 10000 = -80000

(V) (-5)* x (2)* = 25 x 16 = 400

U4 8.

9 =l Bt T BifoTu-

(1) 5 x 10'4, 4 x 107

(ii) 2.6 x 10'2; 1.6 x 108

(iii) 2.7 x 10'%; 3.0 x 10%

Bd:

(1) 5 x 104, 4 x 107

5 x 104 = 5 x 100000000000000 = 500000000000000
4 x 107 = 4 x 10000000 = 40000000

%5 %10 > 4 x 107
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(ii) 2.6 x 102 ; 1.6 x 108

2.6 x 102 = 2610 x 10000000000000 = 26000000000000
1.6 x 108 = 1610 x 1000000000 = 1600000000

~2.6 x10® > 1.6 x 108

(ii1) 2.7 x 10'%; 3.0 x 10™

2.7 x 10! = 2710 x 1000000000000 = 2700000000000

3.0 x 10'5 = 3 x 10000000000000000 = 30000000000000000
% 3.0 x 10" > 2.7 x 101!

YA o.
fRafeRad @ graiea & U § fafeu-

(1) 8729
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(ii) 81343
(iii) 2431024
Bed:

8  2x2x2 _E
729 3Ix3Ix3IxIxi 30
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I:IIJ = —Jp—

343 - IxIxT
.. 243 3%x3x3x3x3 _ 3
M) 078 = 2x 2% 2x 22X 2X X 2X2Ix2 oW

Bihar Board Class 7 Maths YTdi® Ex 8.2

UH 1.

I HIFT 3R IR &l Uidiopd U H fafau-
@) 72 x 74 x 78

(ii) 3%° + 3°

(iii) d2 x d3

(iv) 5% x 57

(V) (53)% + 53

(vi) 3% x 55

(vii) a4 x b?

(viii) (21° + 219) x 2
(ix) 9P + 93

Bed:

(i TERT T
=R =t
S PP T Peedsth o TH
(i) 3WE30= "=t = b 30 B0 Pib-0r o Y
(i) " x d' =" =
(iv) 5*x 51 =5"+%
I:V} {53]1+5}=5113+5]=5ﬁ +51=5:6-I|=5:
(vi) ¥ x5 =(3x5)' =15
(vitya' x &' = (a x b)Y = (ah)!
(Vi) (20 < 20 x 23 = 2301y D3 = Dl D4 = J10+ 3 o TS

(ix) 9 = 93 = 9o

U o.

IR DIT 3R IR ! gIdie g =4 | fafau-
(i) 23x34x432x32

(i) [(53)2x53]+56

https://www.evidyartAi.in/



(iii) 25° + 54

(iv) 3° + 4° + 5°

(v) 3° x 4° x 5°

(vi) (4° + 5°) x 2°

(vii) 116x133%x339%x112
(viii) 5754%53

(ix) (33 x 3)3

(x) 58xa5253xa3

B4 :

U 3.

3T TUHBS| B! Tl & UHhd & =0 H
o DITTL-

(1) 1152

(ii) 64 x 81

(iii) 540

(iv) 27 x 48 x 72

(V)9x6x15x 4

Bdl:

(1) 1152

=27 x 32

(ii) 64 x 81
=2X2X2X2X2X2X3%X3X%X3X%X3
=026 x 34

(i) 540

=2X2X3X3Xx3X5
=22x33x5
(iv) 27 x 48 x 72

=27 X 48 x 72
=3X3X3X2X2AX2X2XJX2X2X2xXx3xX3
=33 x 24 x 3 x 23 x 32

(V)9 x16 x15 x 4
=3X3X2X2X2X2XJXF5X2X2
=32x24x3x5x22
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(v) VxS =]xlxl=1
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UH 4.

= T U Sy H T8/ TAd BifeT auT 304 IR BT HRUT HF ifoTe-

(1) 10° = (1000)°
(1) 43 x 32 =125
(i) 2° = 5

(iv) 10 x 10° = 100°
B :

(1) 10° = (1000)°
10°=1

(1000)° =1

10° = (1000)° = 1 ()

(i) 43 x 3% = 125
(22)3 x 32 =125

26 x 32 % 125 (31TN)
(i) 25 =52

32 = 25 (39A)

(iv) 10 x 10° = 100°

10 X 10000000 = 1000000000000
100000000 # 1000000000000 (HIY)

YA 5.

TR PHIfoTE-

(1) (32)5%5393x52
(i) 92x32xa837xa3
(iii) 35x105%2557%65
Bd:
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Bihar Board Class 7 Maths 9Tdi® Ex 8.3

U 1.

foferfad demst o fawdia wu o fafae-

(1) 389505

(ii) 2005183

(iii) 230829

(iv) 30079

(v) 8324750

Bd:

(1) 389505=3x10°+8 x104+2x 103+ 5%x10°+0+ 5% 1

(ii) 2005183 =2 x 10° + 0 x 105+ 0 x 104 + 5x 103+ 1 x 102+ 8 x 10 + 3 X 1
(iii) 230829 =2 x 10° + 3 x 10 + 0 x 103+ 8 x 102 +2 x 10 + 9

(iv) 30079 =3 x 104+ 0 x 103+ 0 x 102+7x 10+ 9

(v) 8324750 = 8 x 10% + 3 x 10 + 2 x 104 + 4 x 103 + 7 X 102 + § X 10

Uy 2.

(1) 9 x 104 + 5 x 103 + 0 X 102 + 5 x 102 + 4 x 10°
(i) 7 x 10° + 8 x 103 + 4 x 10% + 7 x 10°

(iii) 6 x 104 + 5 x 104 + 7 x 10°

(iv) 8 x 105 + 3 x 102 + 8 x 10!

B :

(i) 9 x 104 + 5 x 103 + 0 x 102 + 5 x 102 + 4 x 10*
= 90000 + 5000 + 0 + 500 + 40

= 950540

https://www.evidyartAi.in/



(i) 7 x 10° + 8 x 103 + 4 x 10% + 7 x 10*
= 700000 + 0000 + 8000 + 400 + 70
= 708470

(iii) 6 x 104 + 5 x 10% + 7 x 10"
= 60000 + 0000 + 500 + 70
= 60570

(iv) 8 x 105 + 3 x 102 + 8 x 10!
= 800000 + 00000 + 0000 + 300 + 80
= 800380

U4 3.

fFafaRad Samsl & 4F® U H ogad Pifo-
(i) 70000000

(i1) 8000000

(iii) 416000000

(iv) 456234

(v) 9634.21

(vi) 72439.62

Bed:

(1) 70000000 =7 x 107
(ii) 8000000 = 8 x 10°

(iii) 416000000 = 4 x 108 + 1 x 107 + 6 x 10° = 4.16 x 108

(iv) 456234 = 4 x 10° + 5 x 10* + 6 x 103 + 2 x 10 + 3 x 10! + 4 = 4.56234 x 105

(v) 9634.21 = 9.63421 x 103
(vi) 72439.62 = 7.243962 x 104

U4 4.

fafeRad HUAl | Udhe g arell 913l &l A 30 H ad Pifo-

(i) 127560000

(ii) 1027.000000

(iii) 1400000000

(iv) 300000000

(V) 12000000000

(vi) 1000000000000

(vil) 300000000000000000000
(viii) 60230000000000000000000000
(ix) 1353000000

ed:

(1) 127560000 = 1.2756000 x 107
(i1) 1027.000000 = 1.027 x 10°
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(ii1) 1400000000 = 1.4 x 109

(iv) 300000000 = 3 x 108

(V) 12000000000 = 1.2 x 10°

(vi) 1000000000000 = 1 x 10!

(vil) 300000000000000000000 = 3 x 102°

(viii) 60230000000000000000000000 = 6.023 x 1022
(ix) 1353000000 = 1.353 x 10°

U4 5.

fAgfafad Hy=l H Uhe 8 aTd! €41 @l A& ¥ U # odd
PRSP ged HH H Jolld-

(1) 1433500000000

(ii) 1439000000000

(iii) 149600000000

(iv) 384000000

Bd:

(i) 1433500000000 = 1.4335 x 102
(ii) 1439000000000 = 1.439 x 102
(iii) 149600000000 = 1.496 x 10!
(iv) 384000000 = 3.84 x 108
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